1

uar!

and
alenc
s, de

1 orc
umit

divi

al
na

L
\ ,g;a

LR S
ONE-STEP EQUATIONS APPLICATION 1

v}0r|d prﬂbfﬁmﬁ:

Remember the quesfions fo ask yourself as you solve real

hat informatian
are you given? |

Practice setling up on equation for each of the situations below. Do not solve.

Does your mluﬂ:n
make sense in the
What dre you solving forf context of the
' prablum?

1. The average cos! of @ school lunch foday is $4.35, which is $2.85 more than the average cos!
of @ lunch in 1990, What was the average cost of a schoal lunch in 19407

|I a. What does the variable represent?

b, Write an equation:

2. Your little sister is too small to stand on the scale. You decide fo get on the scale holding her
and find your combined weight to be 112 pounds. You know that you weigh 94 pounds. How much
does your little sister waigh?

I a. What does the variable represent?

l b. Write an equation:

\\ \Pracrfce sefting up on equation and solving the real-world situations below,

|

3. The charge fonr amlcrg"tﬁavtﬂ:re:ﬁairyﬂs $81.21, including tax. If the tax was $6.70, then how

much was the repair?. ..,,‘1'1;'{-;'&‘-5?
I KNOW: I NEED TO KNOW:
PIAN AND WORK: SOLUTION:




4. Acco
Bas (655 rdin

l; _— - i
810 CBS, the average cost of o Super Bow! licke! In 2010 was $3,504. This (s $44 |
N the cost of a 2015 flekel. How much wos a tickel In 20157 -

I NEED TO ¥NOBt:

PIAN AND 100E:

SOWUTION:

TWPIAN AND LioRK: SOLUTION:

Dubal i lenna in North Dakola measures
scrope is 2,722 feel high. A news sialion on 1 4
gé?f:g‘l ahorI;rThm the Dubai skyscroper. How lall is the news station antenna

1 KNOW: 1 NEED TO KNOW: \

PLAN AND HORK: COLUTION:
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— One -Step Equations Riddle!

w%ﬂﬂ\mnm Then wiite this tetted absove the line that the

Ay r gorraaponis (o

Where do penclls go for vacation? \
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EXTRA PRACTICE; Model and solve Equations
X+6=9 g =10
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i One-gtep Equations Maze!

Directions: Solve each equation. Use your solutions ta havigate through the puzzle. 5
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